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1. (A) State

=D OIS h st ) O

whether the following statements are true or false. (Any 8) (8 marks)
Partners always shares profits equally. -
Closing stock is always valued at cost price. -
Piecemeal distribution means division of physical assets in pieces among the partners.
On Amalgamation of firm, profit & loss adjustment account is opened.
On amalgamation of firms, discharge of liability is credited to realisation A/c.
Amount payable to retiring partner is transferred to Balance sheet asset side..
Balance in FEF A/c is transferred to Capital Reserve A/c.
Agreed value refers to the value specify in the adjustments.
Realisation A/c is prepared in case of dissolution of partners.
0. New ratio — old ratio = Gain ratio.

Q1. (B) Match the following. (Any 7) (7 marks)
Group A Group B
1. Irrecoverable amount A. Old Ratio — New Ratio
2. Intangible Assets B. preferential creditor
3. P&L Appropriation A/c C. debit all partners capital A/c
4. Sacrifices ratio D. Bad Debts
5. income tax payable by firm on date of dissolution | E. credit all partners capital A/c
6. loss on realisation on amalgamation F. Goodwill
7. general reserve on the date of amalgamation G. Adjustment related to partner
8. partners are promoters H. should be translated at exchange rate
9. closing balance of monetary items 1. sale of firm to company
10. partners may not be directors 1. conversion of firm into company

Q2. Following is the Trial Balang £ NI/s. PQR Ltd. having partners P, Q & R (profit & losses in2:1:2)as on 31"
December 2014.

Particulars Rs. Particulars Rs.

Plant & Machinery 45000 | Creditors 7000
Stock (31/12/2014) 7000 | Bills Payable 4000
Repairs (upto 30" Sept. Rs. 600) 00 | Gross Profit 62000
Bills Receivable 0Q4 Outstanding Expenses 5000
Cash 4 Capitals:
Bank 300 15000
Debtors 1600 10000
Bad Debts (upto 30" Sept. Rs. 1800) 2000 l@ 18000
Salaries & Wages 8000 *
Carriage outward 7000 * /
Prepaid Expenses 1000
Miscellaneous Expenses 12000
Drawings:
P 2000
Q 4000
R 5000

121000 121000

Adjustments:

Interest on capital @ 10% p.a.

Partner Q & R should get salary of Rs. 200 p.m.

R retired on 30" September 2014, and his share was taken by other partners in old profit sharing ratio.

The goodwill on the date of retirement was Rs. 6000 and it was agreed by the new partners that it should not
appear in the books of accounts.

R will not get salary after his retirement but he is entitled for interest @ 12% p.a. on the outstanding balance after
retirement.

6. Depreciation on plant & machinery for the year was Rs. 4000.

You are required to prepare Profit & Loss account and Balance Sheet after considering above information for wne year
ended 31 December 2014. (15 marks)

OR

B —



Q2. Following is the trial balance of a firm as on 31* December, 2013.

Particulars Rs. Particulars Rs.

Cash 29700 | Creditors 40500

Debtors 93000 | Sales 540000

Rent & Rates 17700 | Capital: g

Salary 36000 | A 72000 :

Sundry Expenses 15600 | B 36000

Stock 75000 | C (including goodwill) 12000

Purchases 330000

Sundry Assets 31500

Drawings:

A 45000

B 22500

Q 4500

700500 700500

Adjustments:

A & B were partners sharing profits & losses equally.

Mr. C was admitted to the partnership on 1% July 2013.

On 31* December 2013 stock was valued at Rs. 70500.

Rent paid in advanced Rs. 700.

Sundry Expenses were outstanding Rs. 400.

Depreciate Sundry Assets by 20% p.a.

Goodwill of the firm was valued at Rs. 6000 on 1% July 2013 and not to appear in the Balance Sheet.

. Interest on Capital is charged @ 10% p.a. )

You are required to prepare Trading, Profit & Loss Account for the year ended 31* December 2013 & Balance Sheet
as on that date. (15 marks)

iness in partnership decided to dissolve it on and from 30™ September 2013.
at.date.

Q3. Anil, Sunil and Neel carryifig
Following is their Balance Sheet

Liabilities Rs. ssets Rs.
Capital: ixed Assets 40000
Anil 2000 @lt Assets 22000
Sunil 5000 | B : 13000
Neel 10000 O ’
Reserve fund 30000
Creditors 10000

75000 75000

As per the arrangements with the bank, the partners were entitled toywithdraw Rs. 4000 immediately and Rs. 9000
after 1% December 2013. It was decided that after keeping aside afi amount ’of Rs. 1000 for estimated realisation
expenses. The following were realisation:

. 31% October, 2013 (first) Rs. 15000. ¢ /

5. 15" November 2013 (second) Rs. 38000. O

3. 30™ December 2013 (final) Rs. 22000.
Actual realisation expenses amounted to Rs. 700.
Calculate excess capital and prepare statement of distribution.

OR

Q3. Anaya Itd. imported goods from Bhakti Ltd of USA worth US § 150000 on 1* December 2013, when the
exchange rate was Rs. 60 per US §. The amount to be paid in instalment is as follows:

(15 marks)

Date Amount of instalment US § Exchange rate per US § (Rs.)
31/12/2013 20006 60
15/01/2014 40000 62
10/02/2014 60000 59
30/04/2014 130000 65

Anaya Itd. close the books on 31% March every year. On 31¥ March 2014 the exchange rate was Rs. 63 per US §.
You are required to pass journal entry in the books of Anaya Itd.

And also prepare foreign exchange fluctuation account.

(15 marks)




Ag were the Balance Sheet of M/s. Plains & co. And M/s. Checks & co. as on 31* December 2013.

“Liabilities Plains co. Checks co. | Assets Plains co. Checks co.
(Rs.) (Rs.) (Rs.) (Rs.)

Creditors 20000 25000 | Cash - 5600 6700
Mrs. A’s Loan 5000 Stock 20400 18300 :
Capital: Debtors 15000 20000
A 40000 Furniture 4000 5000
B 20000 Premises 40000
C 15000
D 10000

85000 50000 85000 50000

The two firms decided to amalgamate their business as from 1* January, 2014 and form a new firm Plains & Checks
co. for this purpose it was agreed that Mrs. A’s Loan should be repaid by the firm. Goodwill of plains & co. was lixcd
at Rs. 8000 and that of Checks & co. at Rs. 10000. Premises were revalue at Rs. 50000. The stock of Plains & co. was
found over valued at Rs. 4000; whereas the stock of checks & co. wes undervalued by Rs. 2000. A provision of 5%
was created for doubtful debts of both the firms. The total capital of the new firm (Plains & Checks co.) was to be Rs.
80000 and capital of each partner was to be in his profit sharing ratio which was to be 3:2:3:2. Adjustments to be made
through their current accounts. Prior to that goodwill account in the new firm was to be written off. Following the
realisation method, prepare ledger accounts in the books of Plains & co. and Checks & co. to close these partnership
firms. (15 marks)

OR
Q4. Orange. Apple and Banana were partners carrying on partnership business and sharing profit and losses in the
ratio of 1:2:3. On 31* March 2013 their Balance sheet was as under:

Liabilities Rs. Assets Rs.
Capitals: Building 20000
Orange 10000 | Machinery 30000
Apple 20000 | Motor Car 5000
Banana 30000 | Stock 15000
Apple’s Loan 000 | Debtors 20000
Creditors 15000 | Cash 9000
Bills Payable 0% nvestments 1000
100000 100000

On the above date a Private Ltd. company was i

and conditions:

I, All assets (except cash and investments) and all Iiaili@ cept Apple’s Loan) to be taken over by the company
for which all assets are valued at par except building Whi onsidered worth Rs. 27000 and stock as worth Rs.

@ d to take over the above business on the following terms

14000. Further Goodwill is valued at Rs. 30000.
2. Apple’s Loan to be partly liquidated by his taking over the fi sh & investments at par. For the balance he is
given 8% debenture received from the company in part dischare€ o

purcifase consideration.
The balance of the purchase consideration is received in the form Qf%lt hare of the company which are to be

Lo

- appropriately distributed amongst the partners.

4. Pass journal entry and prepare ledger accounts to close the books of the (15 marks)

Q5. (a) Elaborate the process of accounting of a partnership firm with reference to date of a partner. (8 marks)

Q5. (b) What is amalgation of partnership firm? (7 marks)
OR

Q5. Write Short Notes. (Any 3) (15 marks)

1. Foreign exchange fluctuations.
Piecemeal Distribution.
Purchase consideration.

Stock Group.

Fluctuating Capital Method.
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